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Note: You have four choices for each objective type question as A, B, Cand D. The choice which you think is correct,
fill that circle in front of that question number. Usc marker or pen to fill the circles. Cutting or filling two or more
cireles will result in zero mark in that question. Attempt as many questions as given in objective type question
paper and leave others blank.

{. 1.  The most common chronic arthritis which is a degenerative joint disease, also caused by

(A) hormonal defects ('Br genetic defects (C) nutritional defects (D) neural defects
2. Chromosomes appear inside the nucleus at the time of

(A) cell elongation (B) cell maturation (C) cell differentiation (DY cell division
3. Genomic fragments can be separated according t0 their lengths during
(A) PCR (B) gene cloning (%cl electrophoresis (D) chemical cleavage
4 Who defined “Niche” as species occupation?
(A) Grinnell Ry Charles Elton  (C) Cuvier (D)), Hacckel
5. Establishing new forests where no forests existed before
(A) desertification (B) deforestation (C) reforestation (&Y afforestation
6.  Fruit ripening is often accompanied by a burst of respiratory activity, called as
(A) photoperiod (B) fertilization (b}/’éllmaclcric (D) reproduction
i Haemophilia . =
(A.)/affects both sexes equally (B) affectSmen more than women
(C) affects women more than men (D) s nefiailelic sex linked recessive
8 The change in frequency of alleles at a locus,that'occurs by chance is
(A) gene pool (B)mutations ( G)"gj?netic drift (D) migration
9. Synapsis takes place in
(A) leptotenc (B%’/z;fgotene (C) pachytene (D) diplotene
10.  The beginning of Ggu® fortation, starts after injury
Ay 3 — 4 weeké (B) 2 -3 months (C) 8 weeks D) 8- 12 weeks

1. The natase 6fshiyeting thermogenesis adaptation 1s
(A) stuCtural Kphysiological ({,” psychological (D) behavioral

12, Northernconiferous forests are called as

(A) alpine (B) boreal (CY taiga (D) prairies
13,  Multiceltular alga, Acetabularia is attacked to the ground by
(A) roots (8) hold fast (& rhizoid (D) base
4. Increased plasma level of urea is an indication of
(wnal failure (B) urinary tract infection .
(C) kidney stones (D) sexually transimitted disease "’WW
{5. Ifaperson has 44 autosomes and xyy, he will suffer from
()\)/]{lincfeiter’s syndrome (B) turner’s syndrome % /
(Cy down’s syndrome (D) mongolism

16. The most prominent sttucture found in 18 hrs chick embryo 18
(A) primitive streak By hotochord (C) hensen’s node (D) neurocoel (
17. Inmitochondria, the codon UGA signals for

S (BY start (&) Tryptophan (D) methionine
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Note; Section [is compu!sory Attempt any THREE (3) questions from Section 11.

2 Write short answers to any EIGHT questions.
i Differentiate between hypotonic and hypertonic environments.
ii.  Which nitrogenous wastes are produced by the metabolism of purine and pyr imidine?
ii. Differentiate between vieter and urethra.
iv.  What are collenchyma cells?
v, Write down any two major functions of the skeletal system.
vi. Write down a note on hematoma formation.
vii. Differentiate between oviparous and viviparous.
viii. Define gonotrhoa in detail.
ix. How temperate deciduous forests were affected by human impact?
x.  Write down a note on productivity.
xi. How forests play their role on climate?
xii. What are two main sources of water poliution?
3. Write short answers to any EIGHT questions.
i Give the commercial applications of gibberellins.
ii.  What are effectors? Give their types.
{ii. What is Parkinson’s disease?
iv. Compare Allele with multiple alleles.
v. What is product rule?
vi.  Differentiate between sex chromosomes and autosomes.

vii. What are transgenic plants?
viii. What is cystic fibrosis?

ix. What is gene sequencing?

< Differentiate between Bionies and Biosphere.

xi. What are producers and consumers?

xii.  What is commensalism?
4. Write short answers to any SIX guestions.

i Differcntiate between maguration afd differentiation.

ii.  Define growth correlations

i Differentiate betweemfictepochromatin and euchromatin.

iv. What are okazakigffagnients?

v. Differentiateds@ween nucleotides and nucleosides.

vi. Explaif blieflf préphase in mitosis.

vit, How malignant tumor or cancet is caused?

viii. Differentite between homelogous organs and analogous organs.

ix. What is theory of special creation?

(SECTION - 1)
5. (a) Describe osmoregulation in the animals of marine environment.
(b) Describe the biotic components of an ccosystem.
6. (a) Describe major functions of human skeletal system.
(b) Explain Meselson — Stahl experiment for DNA replication.
7.{a) Describe the functions of abscisic acid as growth hormone in plants.
(b) Write down a note on 0zone layer and ozone layer depletion.

8. (a) Write down a note on identical twins and fraternal twins.
(b Discuss diabetes meliitus and its genctic basis.

9. (a) What are growth correlations?
(b) Write down the contributions of Darwin in evolution.
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